\

Associacao Pesca de Tras os Montes e Alto Douro

Campeonato Regional 2014 - 12 Divisao - CLUBES

Rio Tamega — Chaves — 1* Prova Rio Tamega — Chaves — 2* Prova
" Clube SECTORA | SECTORB | SECTORC | SECTORD | SECTORE | SECTORA | SECTORB | SECTORC | SECTORD | SECTORE acr:gzsmcagh
Peg Peso |Pts.|Peg Peso |Pts.|Pes| Peso |Pts.|Pes| Peso |Pts.[Pes) Peso [Pts.[Pes) Peso [ Pts. |Peg Peso |Pts.|Peq Peso | Pts. |Peg Peso | Pts. [Pes Peso |Pts.] Peso | Pts. |Cla]
1 (Mondim 1A| 2150 1,0(4B| 1060| 1,0|2C| 820| 3,0{3D| 460|2,0|1E| 1850 2,0{2A| 3100| 1,0|5B 0] 5,0|/4C| 470( 3,0{1D| 730| 2,0/3E| 1820 3,0] 12460| 23,0| 1
2 |Flaviense 3A| 1500( 3,0 2B 30( 2,0{1C| 1100]| 2,0|5D 10| 4,0]12E| 2370 1,0(4A| 1320( 2,0({3B 530| 2,0|5C| 950| 1,0|3D 0| 4,0|/5E| 940( 4,0] 8750| 25,0| 2
3 |Reguense 5A| 1720| 2,0/ 5B 0]|4,5|5C 0| 5,014D 0] 5,0|3E| 1300( 3,5[1A| 850| 3,0/4B| 280( 3,0{2C| 780| 2,0|2D 0| 4,0|2E| 2100 1,0} 7030| 33,0/ 4
4 |Barrosdes 4A( 520(4,0|1B 10| 3,0{3C 80( 4,0{1D 50( 3,0[{4E| 1300( 3,5(3A 0| 4,5(1B 20| 4,0(3C| 230{ 5,0{4D 0 4,0(1E 0 5,0} 2210] 40,015
5 |Comp. Resende [2A 0]5,0|3B 0|4,5|4C| 1330 1,0{2D| 1280| 1,0|/5E| 1100( 5,0(5A 0| 4,5/2B| 1260| 1,0{1C| 280]| 4,0{5D| 2390| 1,0{4E| 1970( 2,0] 9610| 29,0| 3
Montalegre — Chaves — 3° Prova Montalegre — Chaves — 4° Prova
" Clube SECTORA | SECTORB | SECTORC | SECTORD | SECTORE | SECTORA | SECTORB | SECTORC | SECTORD | SECTORE |ttt
Pes| Peso [Pts.|Peg Peso |Pts.[Peg Peso |Pts.[Pes| Peso |Pts.|Pes Peso [Pts.|Pes| Peso | Pts. [Peg Peso |Pts.|Peg Peso [Pts. |Peg Peso | Pts. [Peg Peso |Pts.] Peso [Pont|Claj
1 [(Mondim 5A| 1300( 5,0(5B( 150]2,0|3C 90| 1,0{4D 30| 3,5|1E| 230(4,0|5A 60( 3,0(3B 60| 2,0(1C 30| 2,0(5D 80( 2,0|5E| 4570|1,0] 19060 | 48,5( 1
2 |Flaviense 4A| 1780] 3,0(4B 30| 5,0|4C 30| 3,0{3D 30| 3,5|4E| 1750( 2,0] 1A| 1710| 1,0|5B 70| 1,0{3C| 380| 1,0{3D| 1460| 1,0/1E[ 150(5,0] 16140 | 50,5| 2
5 |Comp. Resende [2A| 2750(2,0|/3B| 130(3,0| F 0| 5,0|12D 40| 2,0|5E| 2990( 1,0|{3A| 210| 2,0|1B 0] 4,0| F 0] 5,0|1D 0| 4,0|/4E| 1420(3,0] 17150 | 60,0| 3
3 |Reguense 3A[( 1380( 4,0|11B| 540]1,0(2C 50| 2,0{1D 0] 5,0| 2E 70| 5,0(4A 0| 4,5(4B 0] 4,0(4C 0| 3,5|2D 0| 4,0|/3E| 2970(2,0] 12040 | 68,0| 4
4 |Barrosdes 1A| 3120|1,0|12B 50( 4,0(1C 10( 4,0(5D| 120|1,0/3E| 1190( 3,0(2A 0| 4,5|2B 0] 4,0|2C 0] 3,5|4D 0| 4,0|12E| 1370|4,0] 8070 | 73,0({ 5




